Fast Y1[b1]

2t [1] 2t [1] 4272t (1]
{— + -2vti[l] - —— +
v3 v v3
10z%t[1 2z%t [1 8zt [1 228t (1
7[]74v22t[1]7 [ ]+ [ ]72vz4t[1]+#}
v v3 v v

Y1[bl] /. HB[1] - 1

2t[1] 2t[1] 4z2t[1] 10z2%t[1)]
- + -2vt[1l] - + -
v3 v v3 v
274t [1 8zt [1 228t (1
4vz?t (1] - [ ]+ [ ]72vz4t[1]+#
v3 v \%

t1=Y2[BR[Knot [3, 11]]
Tim ng[t2 =Fast Y2[BR[Knot [3, 11111
Ti m ng[t3 = Fast Y2[BR[Knot [4, 11111

{39. 843,

t[1 6t[1 z2t (1 522t (1 1022t [1
{ [] ) vt -aviie - L Sl ) ivazt 1) -7V 221 .
v3 v vo v3 v
z4t (1 10z%t 1 2z°%t[1 2t (2 2t (2
L [ ]+13vz4t[1]72v3z4t[1]7J+2v26t[1]7 2] <)
v3 v v v5 v3
3t[2 22z%t (2 922t [2 522t (2
[ ]+4vt[2}—5v3t[2}+2v5t[2]— [ }+ e <)
\Y vo v3 \Y
2z%t[2] 9z%t[2] 225t (2]
11v3z2t (2] +v® 22t [2] + - +12vz4t[2)1-3v3z4t 2] - — ——
v3 Y \Y
2t[1] 5t[1] 3t[d1] 3vt[(l] 5v3t[1] 2vSt[1l] 5zt[l1] 12zt[l] 5zt [1]
- + - - + - - + - -
voz v3z vz z z z B v3 v

2z%t (1] 11z%t (1] z%t (1)
11vzt[l]+10vizt[1]-vizt[1] - + - ~11vz3t[1) +
vo v3 v
275t [1 2t [2 5t[2 3t[2 3vt[2 5v3t [2 2vot (2
3v3z3t[1]+7[]—2v25t[11+ S []+ []+ el H+ S
v3 voz v3z vz z z z

3zt[2 2zt [2 8zt[2 223t [2 8123t [2
12l [}+ [J—vzt[2]—5v3zt[2}+3v5zt[2]— [}+ [}+
vo v3 v vo v3
623t [2 2275t [2 z5t [2
¥—9vz3t[2]—4v323t[2]+v523t[2]+ [ ]+ [ }—2v25t[2]—v325t[2}}}
Vv v3 Vv

+16v z2t [2] -

+2vz8t 2],
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Ti m ng[t3 = Fast Y2 [BR[Knot [4, 11111

{12.605,
t[1] 6t[1 z2t[1] 5z2t[1] 10z2t|[1
{ LA ]+7vt[1]—4v3t[1]— L i [ ]+21v22t[1]—7v322t[1]+
v3 v vo v3 v
z4t[1 10z4t [1 228t (1 2t [2 2t [2
o [ ]+l3vz4t[1]—2v324t[1]—¢+2v26t[1]— [ ]+ el
v3 v v v5 v3
3t[2 222t (2 922t [2 522t [2
[ ]+4vt[21—5v3t[2]+2v5t[2]— [ ]+ el [ ]+16v22t[2]—
v vo v3 v
274t (2] 9z*t[2] 225t [2]

+12vz*t[2] -3viz4t [2] +2vz8t 2],
v3 \% \%

5v3t[1] 2vSt[1] 5zt[1l] 12zt[l] 5zt[1]

11v3z2t (2] +voz2t [2] +

2t[1] 5t[1] 3t[1] 3vt[1]

+

+

v®z v3z vz z z z V5 V3 v
2z%t[1 11z3t (1 z3t (1
11vzt[l] +10v3zt[1]-vizt[1] - H+ L [Jfllvz3t[11+
vo v3 v
275t (1 2t (2 5t (2 3t[2 3vt[2 5v3t (2 2v5t (2
3Vt 1) s o) oy gy, 2L2L DU STIET 2l 2l 2l
v3 v5z v3z vz z z z
3zt[2 2712 8zt [2 2278t [2 8123t [2
2 [J+ [J7vzt[2]75v3zt[2}+3v52t[2]7 [J+ []+
vo v3 v vo v3
623t [2 275t [2 z%t 2
¥79v23t[2]74v3z3t[2}+v523t[2]+ []+ [172v25t[2]7v3z5t[2}}}

v v3 v
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Ti m ng[t4 = Fast Y2[BR[Knot [6, 11111

t 1 t[1 7t(1 81z%t[1 13z2%t[1
{6594.7& { Lt il +OVt[1] -5Vot[1] - L Sl
v’ v° % v’ v®
z2t[1] 1522t [1] 9z4t[1] 31z%t[1]

+ —

+29vzZt 1] +16v3z2t [1] -10v® 22t [1]

v3 v v7 V5
13z%t [1 23zt [1 2z5t (1 1526t [1
L [ ]+7vz4t[1]+16v3z4t[1]73v524t[1]7 [ ]+ o
v3 v v7 V5
11z%t[1] 528t (1) 2z8t (1] 2z8t[1] 3t[2] 2t[2] 4t][2]
- +3v3z8t 1)+ - - + + -
v3 v Vo v3 v’ vo v3
9t [2] 18z2t[2] 292z2t[2] 172z%t[2]

+7vt[2]-3v3t[2]1-3Vvot[2]+2Vv7t[2] + + -
v v7 v5 V3

2322t (2 1524t [2 51z%t[2
7H+24v22t[2}+7v322t[2}713v522t[2]+v722t[2]7 [ }+ el

v V7 V5
z4t[2 41z4t [2 3z%t (2 23251t (2

S [ ]+2vz4t[2}+14v3z4t[2]74v5z4t[2]7 [ ]+ el

v3 v v7 V5

328t (2 278t (2 z81t (2
~vz8t (27 +3v3z8t 2]+ e <) [ },

9z58t[2] 13z%t (2]

v3 v v5 v3 v
4t[1] 11t[1] 10t[1] 4t[d1] 4vt(l] 3v3t[1l] 2v5t[1l] 2v'tI[1]
- + - + - + + - -
viz voz v3z vz z z z z
22zt[1] 57zt[1] 43zt[1] 11zt [1]
+ - + ~14vzt[1]+v3zt[1]+11vozt 1] -
V7 V5 V3 \'
36z°%t (1 11023t [1 6423t [1 1023t [1
vizt[l] - [ ]+ Sl [ ]+ [}712vz3t[1}712v323t[1]+
v7 V& v3 \Y
1925t [1 88z5t [1 58 z5t [1 62z°t[1
4v®z3t (1] - [ J+ Sl L [ ]72v25t[1]73v325t[1}7
v7 vo v3 Y
3z7t[1] 28z7t[1] 23z7t[1] 2z7t[1] 3z°t[1] 3z°t[1] 4t[2] 11t ([2]
+ - - + - + - +
v’ vo v3 v vo v3 viz voz

10t [2] 4t[2] 4vt[2] 3v3t[2] 2v3t[2] 2v’'t[2] 2zt[2] 19zt [2]

+ +

+

v3z ' z z z z v’ Vo
32zt[2] 8zt[2] 24 723t (2]
- -3vzt[2]-4vizt[2]+Vv®PzZzt[2]+3Vvizt[2] - — &
v3 v v’

3623t [2 42 73t [2 1823t [2
2] el [ }—18vz3t[2]—17v3ft[2]—2v523tm]+v7z3th—

vo ve v
17 z5t [2 6225t [2 3225t [2 3z7t[2
[ J+ el [ J—8vz5t[2]—4v3z5t[2]—v525t[2}—AJf
v7’ vo v v’
25z7t[2] 10z7t[2] 1127t [2] 329t (2] 2z°t[2] z°t([2]
- - -vz't[2]+ - - H
vo ve v vo v3 v

Ti m ng[t6 = Fast Y2[BR[Knot ["K11n34"]111]
KnotTheory:loading : Loading precomputed data in DTCode4KnotsTol11".

KnotTheory:credits:

The GaussCode to PD conversion was written by Siddarth Sankaran at the University of Toronto in the summer of 2005.
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KnotTheory:.credits:

Vogel's algorithm was implemented by Dan Carney in the summer of 2005 at the University of Toronto.

3t[1] 12t [1] 107t [1] 242t (1] 5 1222t [1]
{51940.7, { . - . ~248Vt (1] +114Vv3t [1] -19VSt (1] - —
v’ vo v3 v v’
158 z2t [1] 79522t [1 1771z%t [1
St [ }+ [ ]—1875v22t[1]+923v322t[11—170v522t[11—
vo v3 v
158 z%t [1] 856z%t[1] 2675z*t[1] 5555z%t [1]
+ - + -6309Vvz*t[1] +3495v3z4t [1] -
V7 V5 V3 \"
57128t (1] 2472z8t[1] 5316z°%t[1] 9678z%t[1]
764 v5 z4t [1] - + - + -12212vz8t[1] +
v’ vo v3 v
106528t (1] 4271z%t[1] 6838z%t[1] 10223z%t[1]
7854 v3 z8t [1] -1905Vv® 281t [1] - + - + -
v7? vo v3 \%
1089 z10t (1] 4554z1°0t [1] 58882z10t [1]
14979v z®t [1] +11135v3 28+t [1] - 2747 v z8¢t [1] - + - +
v’ vo v3
6731zt [1 618 z'2t (1] 2991z%?t[1
—[]712089v21°t[l}+10104v3210t[1]72323v5210t[1]7 [ }+ L
v v7 v5
3386zt (1] 2755z%?t (1 193 z%t [1
) + ) -6446v z?t[1] +5856Vv3z12t [1] -1152v5 22t [1] - 4[]+
v3 v v’
1201zt [1 1263zt (1] 675zt (1
L ) + ) -2232vz¥t[1] +2139v3 2%t 1] -327vo 2%t (1] -
vo v3 v
31z%t (1] 286z%t[1] 2902zt (1] 902zt 1
[ ]+ L [ ]+ [ }7480v215t[1]+474v3216t[l}f
V7 V5 v3 \"
2z18¢t (1 37z18¢ 1 37z18¢t 1 5z18¢ (1
49v5 2%t 1] - [ ]+ L [ ]+ [ ]758v218t[1]+58v3218t[l}7
V7 V5 V3 Vv
2z0t (1] 2z%°t[1 12t 2 57t [2 132t [2
3vez18t 1)+ L [ ]73v22°t[lJ+3v322°t[1}7 [ }+ el [ ]+
vo v3 v’ vo v3
191t [2] 141 z2t [2] 55522t [2]
— - 185vt[2]+113Vv3t[2])-42vit 2] +7Vv L [2] - + -
v v7 v5
1019 z%t 2 1326 22t [2
; 2] + <) -1324v z%2t[2] +906Vv3z2t [2] -368Vv° 22t [2] +65Vv 2%t [2] -
v \'
621zt [2] 2297 z*t[2] 3442z*t[2] 3926z%t[2]
+ - + -4391v z4t [2] +3447v3 24t [2] -
V7 V5 V3 A\

153925t (2] 5416z5t[2] 6630z°%t[2] 634225t (2]
_ N _ N _
v’ vo v3 v

2304 z8t [2] 8103z8%t [2]

+ —

1452 v5 z4t [2] + 236 v 24t [2]

8634 vzt [2] +7799v3 281t [2] -3201v5 281t [2] +447v7 28t [2]

v’ vo
8066 z81t [2 5956 z81t [2
; 2] + <] -11036vz8t 2] +11100v3 28t [2] -4223v5 28t [2] +470v7 281t [2] -
v v
2049 z10¢ [2 7857 z10¢t [2 6540 z10¢t [2 3161 z10¢t [2
[ ]+ 2] [ J+ [ }79431v210t[2}+10094v321°t[2]7
v7 v3 v3 Y
1062 z12¢t 2 4866 z12t [2 3582 z12¢t [2 791 z%12¢t [2
3369 v® 210t [2] +277v7 210t [2] - [ J+ el [ ]+ el
v’ vo v3 v

312zt (2] 18852z1t [2]
_ N _

5347 v z'?t [2] +5855v3 212t [2] - 1611v® 22t [2] + 90V’ 21?1t [2] - .
v \'
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1294 z14t [2 24 214t 2
el 2] -1962v zMt[2] +2139v3Zzt [2] -447 V5 zt [2] + 15V zMt [2] -

v3 v
48 716t (2] 439zt (2] 292zt [2] 64zt [2
[ ]+ el el : }—444v216t[2]+474v3216t[2}—
V7 V5 V3 \'
3z18¢ (2 56 z18¢t [2 37218t (2 14 z18¢ [2
66 vzt [2] +v7 2181t [2] - [ ]+ 2] el [ J-sevzwt[zp
V7 V5 V3 \Y
3220t (2 2220t (2 z20t (2
58v3z18+t (2] -4v®z18¢ (2] + 2] el [ }—szzot[2]+3v322°t[2],
vo v3 v
15t (1] 75t [1] 145t[1] 119t[1] 5vt[1] 59v3t[1] 37v3t[1] 7v7t[1]
- + - + - = + - -
viz voz v3z vz z z z z
174zt [1] 835zt[1] 1531zt[1] 1157zt [1]
+ - + +28vzt[1]-599v3zt[1]+349v3zt 1] -
V7 V5 V3 \
850z3t[1] 394523t [1] 68252z3t[1] 462823t [1]
65v’zt[1] - + - + +572vz3t 1] -
V7 V5 V3 \
235725t [1] 105922z5t[1] 17151z5t[1
2589 v3z3t[1] +1355v®2z3t [1] -236Vv7 23t [1] - [ }+ Sl [ ]+
v’ vo v3
10242 z5t [1 414377t [1
—[]+2426v25t [1] -6203v3Z5t [1] +2898Vv>z5¢t [1] -447v7 2%t [1] - 77H+
A\ \%
18046 z7t [1] 27048zt [1] 1400127t [1)]
- + +4943vz t[1] -9086v3z7t [1] +3757Vv>z t 1] -
vo v3 v
467729t [1] 20436z°t[1] 28075z°t[1] 123562z°%t [1]
470v7 27t [1] - + - + +5701vz%t[1] -
v’ vo v3 %
3324 z1%t[1] 15552zt [1] 19579z%%t (1
8474 v3z%t [1] +3010v® 2%t [1] -277v 2%t [1] - [ J+ S [ ]+
v’ vo v3
7101 z% ¢ [1
7[]+3936vz”t [1] -5066 v3zt (1] +1470vo z™ t (1] -90v7 z11 ¢t (1] -
\%
1451zt [1] 7879z13t[1] 9182z13t[1] 2622z13t[1
[ ]+ Sl [ J+ [ }+1644vzl3t[1J—1917v3213t[1]+
V7 V5 V3 \"
37421t [1] 2596zt [1] 2844zt [1] 595215t (1
420v5z18¢t (1] -15v7 2Bt [1] - [ J+ i [ J+ [ J+
V7 V5 V3 Vv

52z17t (1] 531zY7t[1]

+ —

405v z1t (1] -441v3 2zt [1] +64VvEZ15t 1] -v7 2151t [1]

v’ vo
556 z17t [1 75217t [1 3z19t (1 61zt [1
[ J+ [ ]+54vzl7t[1]—56v3217t[1J+4v5217t[1]— [ ]+ SN
v3 v v7 V5
62z19t [1 4z%t (1 3zt (1 3zt (1 15t [2
[ ]+ [ }+3vzlgt[1]f3v3zlgt[1]+ L [ ]+ el
v3 v vo v3 v’z
75t [2] 145t [2] 119t[2] 5vt[2] 59v3t[2] 37v3t[2] 7v't[2] 84zt (2]
+ - + + - + + -
voz v3z vz z z z z v’
490zt [2] 1081zt [2] 1038zt [2]
. + . - +180vzt[2] +448v3z1t[2]-337v3zt[2]+72Vv zt[2] +
\% \% \'

7623t [2] 918z3t[2] 2851z%t[2] 3548123t [2]

+ +1209v z3t [2] +1257v3Z3t [2] -
V7 VS V3 \"
42125t (2] 3692zt [2] 3029z%t[2] 6661z°%t (2]
- + + - +
V7 v5 V3 \"

1228 v z3t [2] +301v7 23t [2]
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1665z7t [2] 4458z7t [2]
_ . _

3872 vzt [2] +1535v3 2%t [2] - 2406 v® z%t [2] +683 Vv’ z%t [2] - .
\% \"

396 Z\;t 2] - 7887 Zv7t 2] +7075vz7t[2] +316Vv3z7t [2] -2818Vv5z7t[2] +917v Zz"t [2] -
2757z°t [2] 87512z%t [2] 46482z°t[2] 6463z°t (2]
v’ : vo ) v3 ) v

2436 z11t [2] 9066 z11t [2] 56482zt [2] 39461zt [2]
- v7 " V5 h v3 h v i
1213218t [2] 5591zt [2]
_ . _
v’ vo

+7797v z%t [2] -1291v3Zz%t [2] -

2136 vo 22t [2] + 747 Vv 2%t [2]

5287 vzt [2] -1559v3 zMt (2] -1131v® 21t [2] +367 vzt [2]

3589 z131¢ [2 1831 z%13¢t [2
2] 2] +2195v z¥t (2] -829v3 ¥t [2] -429VvO z¥t [2] +105Vv7 23t [2] -

v3 v
340215t [2] 2103z15t[2] 1357zt [2] 619215t [2
[ J+ 2] el [ ]+540vzl5t[2J—234v3215t[2}—
v’ v v3 v
50z17t[2] 472zt [2] 306zt [2 139 z17¢ [2
109vo 2zt (2] +16Vv7 215t [2] - [ ]+ 2] 2] [ J+
v’ v® v3 v
3z19t[2] 58z19%t[2] 38z19t[2
72vzY¥t (2] -34vizYt (2] -16vizt (2] +v7ZY 1 (2] - 2] + 2l S
v’ v® v3
18z19¢t [2 3z20¢t (2 2221t (2 z21t [2
7[]+4v219t[2]—2v3219t[2]—vszlgt[21+ 2l S [ ]}}
v v® v3 v

Tim ng[tl =Fast Y2[BR[Knot [8, 17]]111]

KnotTheory:credits:

The minimum braids representing the knots with up to ...vided by Thomas Gittings. See arXiv:imath.GT/0401051.

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,5, 4, 4, 3,5,6, 43, 2,1, -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 4, 3,5, 4,4, 3,5 6,5 3, 2,1, -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,5, 4, 4,6,5, 3,2 1,6,5 -2}], 5

Honf at BR[7, (-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3,5 4, -2, -3, -1, -2, 4,3,5,4,4,6,5, 4 2,1, 6,5 -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,5,6, 4,3, 2,1,5, 46,5, -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

-3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 4,3,5,6,5,3,2,1,5, 4,6, 5 -2}], 5
Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

-3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 4,6,5,3,2,1,6,5,5, 46,5 -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 6,5, 4,2, 1,6,5,5, 46,5, -2}], 5

Honf at BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,
-2, -3, -1, -2, 4, 3,5, 4, -2, -3,6,5,4, 3,1 -3,5 46,5, 5 46,5 -2}], 5

Honf at BR([7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,
-2, -3, -1, -2, 4, 3,5 4, -2, -3, 6,5, 4,3, 2, -3,5 4,6,5 5 4,6,5 -2}], 5
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{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

BR[7,

Honf at

5

-2, -3, -1, -2, 4, 3,5, 4,6,5, 4 2,1, -4, -2, -3, 5, 4,6, 5,5, 4, 6,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7,

5

-2, -3, -1, -2, 4, 3,5, 4,6,5,4 3, 1, -4 -2, -3,5 46,5, 5,4,6,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

BR[7,

Honf at

5

-3, -1, -2, 4, 3,5 6,4, 3,21, -3 -4, -2, -3,5 4,6,5, 5, 4,6, 5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

BR[7,

Honf at

5

-3, -1, -2, 4, 3,5,6,5,3, 2,1, -3 -4, -2, -3,5,46,5,5, 46,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

-3, -1, -2, 4,6,5 3,2 1,6,5 -3 -4 -2, -3,5 46,5 5, 4,6, 5 -2}],

Honf at

BR[7,

Honf at

5

-2, 4, 3, 5, 4, -2,

-3, -1, -2, -2, -3, -1,

{-3, -4, -5, -6, -2,

BR[7,

5

-3, -1, -2, 4, 6,5 4,2, 1,6,5 -3 -4, -2, -3,5 4,6,5, 5,4, 6,5 -23}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4

Honf at BR[7,

5

-2, -3, 6,5, 43,1, -3,5,46,5, -3, -4 -2, -3,5,46,5,5, 4,6, 5, -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

BR[7,

Honf at

5

-2, -3, 6,5,4,3,2 -3,5 4,6,5 -3, -4, -2, -3,5 4,6,5, 5, 4,6,5 -2}],

Honf at

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

BR[7,

5

6, 5 4, 2,1, -4, -2, -3,5, 46,5, -3, -4, -2, -3,5,4,6,5,5, 46,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7,

6, 5 4, 3,1, -4, -2, -3,5, 46,5, -3, -4 -2, -3,5,4,6,5,5,46,5, -2}], 5

Honf at

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 6, 4,

BR[7,

5

3,2, 1, -3, -4, -2, -3,5,4,6,5, -3, -4 -2, -3,5 4,6,5 5 4,6, 5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 6, 5,

BR[7,
1,

Honf at

5

-4, -2, -3, 5, 4,6,5, -3, -4, -2, -3,5,4,6,5,5, 46,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 6,5, 3, 2

1, 6, 5 -3, -4, -2, -3,5,4,6,5 -3, -4 -2, -3,5 46,5 5,4,6,5 -2}],

Honf at

-3,

3, 2,

Honf at

BR[7,

5

-2, 4, 6, 5, 4, 2,

-3, -1, -2, -2, -3, -1,

{-3, -4, -5, -6, -2,

BR[7,

5

1, 6,5 -3 -4 -2, -3,5 4,6,5 -3, -4, -2, -3,5 4,6, 5,5 4,6, 5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, 6,5, 4,3, 1 -3 5

Honf at BR[7,

5

4, 6, 5, -3, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, 6, 5, 4, 3, 2, -3, 5,

BR[7,

Honf at

5

4, 6,5 -3, -4 -2, -3,5,4,6,5 -3, -4, -2, -3, 5 4,6,5, 5 4,6, 5 -2}],

Honf at

{-3, -4, -5, -6, -2, -3, -1, -2, 6, 5, 4, 2,1, -4, -2, -3, 5,

BR[7,

5

4, 6, 5, -3, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,4,6,5,5, 46,5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, 6, 5 4,3, 1, -4, -2, -3, 5

Honf at BR[7,

5

4, 6, 5, -3, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5 -2}],

Honf at

{-3, -4, -5, -6, -2, -3, 6,5, 4,3 1, -3 -3, -4, -2, -3, 5,

BR[7,

5

4, 6,5 -3, -4 -2, -3,5,4,6,5 -3, -4, -2, -3, 5 4,6,5, 5, 4,6 5 -2}],

{-3, -4, -5, -6, -2, -3, 6, 5, 4, 3, 2, -3, -3, -4, -2, -3, 5,

BR[7,

Honf at

5

-4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,4,6,5,5, 46,5 -2}],

{-3, -4, -5, -6, 6,5,4,2 1, -4, -2, -3, -3, -4, -2, -3, 5,
4, 6,5 -3, -4, -2, -3, 5 4,6,5, -3, -4 -2, -3,5,4,6,5, 5 4,6, 5, -2}],

Honf at

-3,

4, 6, 5,

Honf at

BR[7,

5

-3, 5,

-2,

_4,

{-3, -4, -5, -6, 6, 5, 4, 3, 1, -4, -2, -3, -3,

BR[7,

5

4, 6,5 -3, -4, -2, -3,5, 4,6,5, -3, -4, -2, -3, 5 4,6,5 5 4,6, 5 -2}],

{-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

Honf at BR[7,

5

-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,5, 4,3, 2 1,5, 5, 46,5 -2}],
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Honf at BR[7, {-3,
-3, -1, -2, 4, 3,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 5,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 5,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 5,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 5,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 5,

Honf at BR[7, {-3, -4,

-3, -1, -2, 4, 3, 5, 4,

Honf at BR[7, {-3, -4, -5, -6,
-2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7, {-3, -4, -5, -6,
-2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7, (-3, -4, -
-2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7, {-3, -4, -5, -6,
-2, -3, -1, -2, 4, 3, 5, 4,

Honf at BR[7, {-3, -4, -
-3, -1, -2, 4, 3, 5, 4, 3, 2,

Honf at BR[7, {-3, -4,
-3, -1, -2, 4, 3, 6,

Honf at BR[7, {-3, -4,
-3, -1, -2, 6, 4, 3,

Honf at BR[7, {-3, -4,
-3, -1, -2, 6, 5, 3,

Honf at BR[7, {-3, -4,
-2, -3, -1, 6, 5, 4,

Honf at BR[7, {-3, -4,

-2, -3, -1, 6, 5, 4, 3, 1, 5,

Honf at BR[7, (-3, -4, -
-2, 6,5, 3,2, 1, -2,

Honf at BR[7, {-3, -4, -5, -6,
-2, 6,5, 4,2, 1, -2,

Honf at BR[7,
2,1, 5 -3, -4, -2,

Honf at BR[7, (-3, -4, -

2,1, 5 -3, -4, -2,

Honf at BR[7, {-3, -4, -5,

4, 6,5 -3 -4, -2,

Honf at BR[7, (-3, -4, -

4, 6, 5, -3, -4, -2,

-2, 4, 3, 5, 4,
5 4,3, 2,1,5, -2}], 5

-2, 4, 3, 5, 4,
6,4 3 2, 1,5, -2}], 5

-2, 4, 3, 5, 4,
3,2, 1, 4,6, 5 -2}], 5

-2, 4, 3, 5, 4,
3, 2,1, 46,5, -2}], 5

-2, 4, 3, 5, 4,
1, 5,5 4,6, 5 -2}], 5

-2, 4, 3, 5, 4,
6, 5,5 4,6, 5 -2}], 5
-2, 4, 3, 5, 4,
6, 5 5, 4, 6,5, -2}], 5

-2, 4, 3,5, 4,
4,6, 5 5 4,6, 5 -2}],

-2, 4, 3, 5, 4,
4, 6, 5, 5, 4, 6, 5, -2}],

-2, 4, 3, 5, 4,

-2, 6, 5,3, 2,1, 4, 6, 5, 5, 4, 6, 5, -2}1],

-2, 4, 3, 5, 4,

-2, 6,5 4,21, - 4, 6,5 5, 4, 6,5 -2}],

-2, 4, 3, 5, 4,
6, 5 5,4, 6,5, -2}], 5

-2, 4, 3, 5, 4, -2,
6, 5 5 4,6, 5 -2}], 5

-2, 4, 3, 5, 4,
6, 5,5 4,6, 5 -2}], 5

-2, 4, 3, 5, 4,
6, 5 5,4, 6,5, -2}], 5

-2, 4, 3,5, 4,
4,6, 5 5 4,6, 5 -2}],

-2, 4, 3, 5, 4,
4, 6, 5, 5, 4, 6, 5, -2}],

-2, 4, 3, 5, 4,
4, 6, 5, 5, 4, 6, 5, -2}],

-2, 4, 3, 5, 4,
4, 6, 5 5, 4,6, 5 -2}],

(-3, -4, -

5 -3, -4, -2, -3, 5,4,6,5, 5

-2,

-2,

-2,

-2,

_2,

-2,

_2,

-2,

-2,

-2,

=237,

-2},

-2},

-2317,

5

5

5

5



Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
4, 6,

Honf at
-2,

Honf at

OneParameterY-Testing.nb

BR[7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, 6, 5, 4, 2, 1, 5,
5 -8, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5

BR(7, {-3, -4, -5, -6, -2, -3, -1, -2, -2, -3, -1, 6,5, 4, 3,1, 5,
5 -3, -4, -2, -3,5,4,6,5, -3, -4, -2, -3,5, 4,6,5,5, 46,5, -2}], 5

BR(7, (-3, -4, -5, -6, -2, -3, -1, -2, -2, 6,5, 3, 2,1 -2, -3, 5
5 -8, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5
BR[7, (-3, -4, -5, -6, -2, -3, -1, -2, -2, 6,5, 4 2,1, -2, -3, 5,
5 -3, -4, -2, -3,5,4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5
BR(7, (-3, -4, -5, -6, -2, -3, -1, 6, 5,4, 2,1, -3, -4 -2, -3, 5,
5 -3, -4, -2, -3,5, 46,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5
BR[7, {-3, -4, -5, -6, -2, -3, -1, 6, 5, 4, 3, 1, -3, -4, -2, -3, 5,
5 -8, -4, -2, -3, 5,4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5
BR[(7, {-3, -4, -5, -6, -2, 6, 5, 3, 2, 1, -2, -3, -3, -4, -2, -3, 5,
5 -3, -4, -2, -3,5,4,6,5, -3, -4 -2, -3,5,46,5,5, 46,5, -2}], 5
BR(7, (-3, -4, -5, -6, -2, 6,5, 4,2, 1, -2, -3, -3, -4, -2, -3, 5,

5 -3, -4, -2, -3,5,4,6,5 -3, -4 -2, -3,5 46,5 5 4,6, 5 -2}], 5
BR[(6, {-2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4,

-3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,5, 4, 4, 3,5, 4, -1, 2, 1}], 4

BR(6, {-3, -4, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,

-3, -1, -2, 4, 3,5 4, -2, -3, -1, -2, 4, 3,5, 4,4,3,5 4 -1, 4,3, 2, 1}], 4

Honf at BR([6, {-3, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 4, 3, 5, 4, 4, 3,5, 4, -1, 3, 2, 1}], 4
Honf at BR([6, {-3, -4, -5, -2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2,
-3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 4, 3,5, 4,4, 3,5 4, -1, 5, 4, 3,2, 1}], 4
{212. 926,
2t [1 3t[1 6t[1 272t [1 1922t [1 98 z2t [1
{ oSt []+11vt[1]—6v3t[1}+ 2 S []+151v22t[1}—
Vo v3 v v5 v3 v
1524t [1] 152z4t[1] 496z%t[1 3626t [1
66 v3z2t[1] - [ ]+ Sl [ ]+674vz4t[1]7249v3z4t[1]77H+
vS v3 v V5

36125t (1] 1214z°%t (1) 48 z8t (1] 40928t [1]

4 —

+1523v z®t [1] -474v3 251t [1]

v v v5 V3
1706 z81t [1)] 34710t (1] 258210t [1] 1422210t (1)
- 4+1989vz®t[1]-544v3z8t 1] - + - +

\Y; V& v3 \Y;

10z2t (1] 88z2t[1] 714z%2t]1
1596 v z19t (1] -374v3 20+t (1] - il + Sl ) +780vz¥2t (1] -
Vo v3 v

z¥4t 1 15zt [1 208 z14t [1 z18¢t (1

142 v3 22t (1] - [ }+ Sl [ ]+221vzl4t[1}727v3214t[1]+A7
v v3 v V3

322161t (1 2281t (1 2t (2 t[2
7[]+33v216t[1]72v3216t[1]7¥+2v218t[1]7 [ }+ [ ]+4vt[2]7

v v & v

28z2t[2] 48z2t[2] 39z%t[2
9v3t (2] +4vit[2] - 2] + el 2] +92vz2t[2]-95v3zZ2t (2] +
vo v3 v
102z%t [2] 267z%t[2] 294z%t[2
30vez2t (2] - 2] + el 2] +472vz4t (2] -364v3z4t (2] +
v5 v3 v
1682z°%t [2] 608z°%t[2] 835z°6t[2
87voz4t [2] - [ ]+ el [ ]+1144vzst[2]7721v326t[2}+

v5 v3 v

9
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164 z8t [2] 70428t [2] 129528t [2]

132v® 2%t [2] + - +1578v z8t (2] -839v3z8¢t (2] +
V5 V3 Vv
88 z110¢t [2 462 210t [2 1164 z10t [2
116 v® 28t [2] - . 2] + ; 2] 2] +1338v z10t [2] -578v3 210t [2] +
\) \Y \)
22z12¢ 2 164 z12t [2] 626z12t[2
54 v5z10¢t (2] - . 2] + ; el 2] +692vz12t (2] -218v3z12¢t (2] +
\" \% \
2z14¢ (2 29 z14¢ (2 193zt [2
12v5z12¢ (2] - 2] + el 2] +206 vzt (2] -41vizMt (2] +
v® v3 %
2216t (2 31z16¢ (2 2z18¢ (2
viz4t (2] + 3[ L [ }+32v216t[2]—3v3216t[2}—¥+2vzmt[2],
\% \ \"

4t[1] 11t[1] 7t[1] 7vt[l]

— + —

11v3t[1] 4vSt[1] 38zt[1] 103zt [1]

+ —

+

vSz v3z vz z z z V5 V3

59zt [1] 147 z3t[1] 407z3t[1] 202z3t[1]

- 73vzt[1]+97Vvizt[1]-30Vvozt([l]- + - -
\Y v5 v3 Vv

306z5t[1] 915zt [1] 379z5t [1)]
B V5 * v3 h v
380z7t[1] 1285zt [1] 411zt 1)
) vo : v3 ) v )
286z%9t [1] 1134z%t[1] 2582z9%t[1]

+ — —

320vz3t[1] +349v3z3t 1] -87v3z3t 1]

783 vzt [1] +685v3zot [1] -132v®z%t [1]

1169vz t [1] +791v3z7t[1] -116Vv°z7t [1]

vo v3 v
120zt (1] 6162z%t[1] 88zttt ([l
1080 v z°t [1] +544v3z°%t [1] -54v® 2%t [1] - [ ]+ St St
vo v3 v
25zt (1] 192z8t[1] 15z8t[1
604 vzt 1] +208v3zt (1] -12vo 21t (1] - [ ]+ St St
vo v3 v
2zt (1 31z%¢t 1 z151t (1
191vz®t (1] +40v3 ¥t (1] -vo 28t [1] - [ ]+ 4] _ [ ]—31v215t[l]+
vo v3 v
2zt (1 4t (2 11t [2 7t([2 7vt[2 11v3t [2
3v3zl5t[1}+7[1—2vzl7t[1]+ 2 2, e 2l 2l
v3 voz viz vz z z
4v5t[2] 22zt[2] T79zt[2] 66zt[2]
+ - + +45vzt[2]-88v3zt[2] +34Vvozt[2]+
z V& v3 \%
2723t (2] 201z3t[2] 261z3t([2 42 751 [2
el [ }+ [ }+84vz3t[2}7288v3z3t[2}+117v5z3t[2]77[17
vo v3 v V5
194 z5t [2] 5812z°%t (2 14827t [2] 99zt (2
[ ]+ [ 1725vz5t[2]7539v325t[2}+219v525t[2]7 [ ]+ [ ]+
v3 v V5 NE
790271 [2 178z°t [2] 39429t [2
7H7347vz7t[2]7642v3z7t[2]+248v527t[2]7 : 1+ [ }+
v V5 v3
669 2%t [2 96zt [2] 362zt (2
7H7564v29t[2]7491v3zgt[2]+170v529t[2]7 2] + 2] +
v v5 v3
346 z11t [2 23zt (2] 148z13¢t[2
7H7428vzllt[2] -250v3zMt (27 +66 Vo z1t (2] - 2] + 2] +
v v5 v3
103 z13+¢ [2 2zt (2] 28zt (2 16215t [2
7H7161vzl3t[2]780v3zl3t[2]+13v5213t[2]7 [ ]+ [ ]+ el
\Y V& v3 Vv
2z17¢t (2 z17t (2
29vzB ¢t (21 -14v3z5t (27 +vB 2Bt (2] + []+ [172v217t[2]7v3zl7t[2]}}

v3 v
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Ti m ng[t2 = Fast Y2[BR[Knot [8, 17]] /. | _List = Reverse[l]111]

Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, 6,5, 4, 3,1, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, 6,5, 4, 3, 2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 6, 5, 4, 2, 1, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, 6,5, 4, 3,1, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3,5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3, 5, 4, -2, -3, 6,5, 4, 3,1, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, 6, 5, 4, 3, 2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, 6, 5, 4, 2, 1, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3,5, 4, 6,5, 4, 3, 1, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3, 5,6, 4, 3, 2, 1, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 3, 5, 6,5, 3, 2,1, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 6,5, 3, 2,1, 6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, -1, -2, 4, 6, 5, 4, 2, 1, 6, 5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3,5 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, 6,5, 4, 3,1, -3,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, -2, -3, 6,5, 4, 3, 2, -3, 5, 4 6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, 6,5, 4, 2, 1, -4, -2, -3, 5, 4, 6, 5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 4, 6,5, 4,3, 1, -4, -2, -3, 5, 4,6, 5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 6, 4, 3, 2,1, -3, -4, -2, -3, 5, 4, 6, 5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

5 6,5, 3, 2,1, -3, -4, -2, -3,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 6,

53,2 1,6,5 -3, -4 -2, -3,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 6,

5 4,2, 1, 6,5, -3, -4, -2, -3, 5, 4, 6, 5, -3, -4, -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, 6, 5, 4, 3, 1,

-3, 5, 4, 6,5, -3, -4, -2, -3,5, 46,5, -3, -4 -2, -3, -3, -4, -2, -3, -2}], 5
Honf at BR[7, {-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, 6, 5, 4, 3, 2,

-3, 5 4,6,5, -3, -4, -2, -3, 5, 4,6,5, -3, -4 -2, -3, -3, -4, -2, -3, -2}], 5

11
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{-3, -4, -5, -6, 4, 3,5, 4, 4, 3,5, 4, 6,5, 4, 2,1, -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5,4,6,5, 4, 3,1, -4, -2

Honf at BR[7,

5

-3, 5 4,6,5 -3, -4 -2, -3,5 46,5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4,4,3,5 6, 4,3, 2 1 -3, -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5,6,5, 3,2, 1, -3, -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}1],

{-3, -4, -5, -6, 4,3,5,4,4,6,5,3,2 1, 6 5 -3, -4, -2

-3, 5 4,6,5 -3, -4 -2, -8, 5, 46,5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

BR[7,

Honf at

5

{-3, -4, -5, -6, 4, 3,5, 4, 4, 6,5, 4 2,1, 6, 5, -3, -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4, -2, -8,5 4,6,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4,3,5,6, 4,3, 2,1, 5, 46,5 -3, -4, -2

Honf at BR[7,

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}1],

{-3, -4, -5, -6, 4,3,5,6,5 3,2, 1,5, 46, 5 -3, -4, -2

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 6,5,3, 2, 1,6,5 5, 46,5 -3 -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4,6,5,4 2, 1,6,5,5, 46,5 -3, -4, -2

Honf at BR[7,

5

-3, 5 4,6,5 -3, -4 -2, -3,5, 46,5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4,3,5,4,3,2, 1,5 5,4,6,5 -3, -4, -2,

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5, 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, -1, 6, 5, 4, 2, 1, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5, 4, -2, -3, -1, -2, 4, 3,
5 4, -2, -3, -1, -2, 4, 3,5 4, -2, -3, -1, -2, -2, -3, -1, 6, 5, 4, 3, 1, -2}],

BR[7,

Honf at

5

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5 4, -2, -8, -1, -2,4,3,5 4, -2, -3, -1, -2, -2,6,5,3 2,1, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5,4, -2, -3, -1, -2, 4, 3,

Honf at BR[7,

5

5 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, 6, 5, 4, 2,1, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5 4, -2, -3, -1, -2, 4, 3,5 4, -2, -3, -1, 6,5, 4, 2,1, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5, 4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, 6, 5, 4, 3, 1, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5,4, -2, -3, -1, -2, 4, 3,

Honf at BR[7,

5

5 4, -2, -3, -1, -2, 4, 3,5 4, -2,6,5,3, 2 1, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4,4,3,5 4, -2, -3, -1, -2, 4,3,

BR[7,

Honf at

5

5 4, -2, -3, -1, -2, 4, 3,5 4, -2,6,5, 4,21, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,
_2’

Honf at

5

-3, -4, -2, -3, -3, -4, -2, -3, -2}],

1, 5,
{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5, 4, -2, -3, -1, -2, 4, 3,
5 4, -2, -3, -1, -2, 4, 3,6, 4,3,2 1,5 -3 -4 -2, -3, -3, -4, -2, -3, -2}],

-2, 4, 3,5, 4, 3, 2,

-1,

-3,

5, 4,

Honf at

BR[7,

5

{-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5,4, -2, -8, -1, -2,6, 4,3, 2,1, 4,6,5 -3 -4, -2, -3, -3, -4 -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5,4, -2, -3, -1, -2, 4, 3,

Honf at BR[7,

5

5 4, -2, -3, -1, -2, 6,5, 3,2 1, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],
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{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

5, 4, -2, -3, -1, 6,5, 4,2, 1,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5,4, -2, -3, -1, -2, 4, 3,

Honf at BR[7

5

5, 4, -2, -3, -1, 6,5, 43, 1,5, 4,6, 5 -3, -4 -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4,4,3,5 4, -2, -3, -1, -2, 4,3,

BR[7,

Honf at

5

5 4, -2,6,5 3, 2,1, -2, -3, 5 4,6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

-2, -3, -231, 5

-3, -4, -2, -3, -3, -4,

-3, 5, 4, 6, 5,
{-3, -4, -5, -6, 4, 3,5, 4, 4,3,5, 4, -2, -3, -1, -2, 4, 3,

5, 4,3, 21,5, -3, -4, -2, -3,5,4,6,5, -3 -4 -2, -3, -3, -4, -2, -3, -2}],

1, -2,

2,

-2, 6, 5, 4,

5, 4,

Honf at

BR[7,

5

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[7,

Honf at

5

6,4, 38 2 1,5, -3, -4 -2, -3, 5 4,6,5 -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3, 5,4, -2, -3, -1, -2, 6, 4,

Honf at BR[7

5

3, 2,1, 46,5, -3, -4, -2, -3,5, 4, 6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4,4, 3,5, 4, -2, -3, -1, -2, 6, 5

BR[7,

Honf at

5

3,2, 1,4,6,5 -3, -4, -2, -3, 5 4,6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 5, 4 -2, -3, -1, 6, 5, 4, 2,

BR[7,

Honf at

5

1, 5 4, 6,5, -3, -4, -2, -3,5, 4, 6,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4,3, 5,4, -2, -3, -1, 6 5, 4, 3,

Honf at BR[7

5

1, 5, 4, 6,5, -3, -4, -2, -3,5, 46,5, -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4,4,3,5 4, -2,6,5,3, 2,1, -2

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4, 3,5, 4, 4, 3,5, 4, -2,6,5, 4, 2 1, -2,

BR[7,

Honf at

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}1],

{-3, -4, -5, -6, 4,3,5,4, 4,35, 4,3,2 1,5, -3, -4, -2

-3, 5 4,6,5 -3, -4 -2, -8, 5, 46,5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

Honf at

BR[7,

Honf at

5

{-3, -4, -5, -6, 4, 3, 5, 4, 4, 3, 6, 4, 3, 2,1, 5, -3, -4, -2,

BR[7,

5

-3, 5 4,6,5 -3, -4, -2, -83,5 4,6,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 4,3,5,4,6,4,3,2, 1, 46,5 -3, -4, -2

Honf at BR[7

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}1],

{-3, -4, -5, -6, 4,3,5,4,6,5, 3, 2,1, 46,5 -3, -4, -2

BR[7,

Honf at

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

Honf at

{-3, -4, -5, -6, 4, 3,6, 4, 3, 2,1, 5 5,4 6,5, -3, -4, -2,

BR[7,

5

-3, 5 4,6,5, -3, -4 -2, -3,5, 46,5, -3 -4, -2, -3, -3, -4, -2, -3, -2}],

{-3, -4, -5, -6, 6, 4,3, 2 1,46, 5,5, 46,5 -3, -4, -2

Honf at BR[7

5

-3, 5 4,6,5 -3, -4 -2, -3,5 46,5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

Honf at

{-3, -4, -5, -6, 6,5,3, 2, 1,4,6,5 5, 4,6,5 -3, -4, -2,

BR[7,

5

-3, 5 4,6,5 -3, -4 -2, -3,5 4,6, 5 -3, -4, -2, -3, -3, -4, -2, -3, -2}],

{4, 3, 5, 4, 4, 3, 5, 4, -2, -3, -1, -2, 4, 3,

BR[6,

Honf at

4

5,4, -2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, -1, -2, -1, 2, 1}],

{-3, -4, 4, 3,5, 4,4,3,5 4, -2, -3, -1, -2, 4, 3, 5,
4, -2, -3, -1, -2, 4,3, 5,4, -2, -3, -1, -2, -2, -3, -1, -2, -1, 4, 3, 2, 1}],

BRI[6,

Honf at

4

-1, -2, 4, 3, 5,

-3,

-2,

{-3, 4, 3, 5, 4, 4, 3, 5, 4,

BR[6,

Honf at

4

4, -2, -8, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, -1, -2, -1, 3, 2, 1}],

{-3, -4, -5,4,3,5,4, 43 5, 4, -2, -3, -1, -2, 4 3, 5, 4,

Honf at BR[6

4

-2, -3, -1, -2, 4, 3,5, 4, -2, -3, -1, -2, -2, -3, -1, -2, -1, 5, 4, 3, 2, 1}],
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